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QUESTION 1

Assume the computer hardware supports parallel calculation. Given these two rule sets, in what order will the rules be
calculated?

Rule Set A, Sequence = 1, Execution = Parallel

Rule 1, Sequence 1
Rule 2, Sequence 2
Rule 3, Sequence 2
Rule Set B, Sequence = 1, Execution = Parallel

Rule 4, Sequence
Rule 5, Sequence
Rule 6, Segquence

e wmhn
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A. Rule 1, Rule A, and Rule 5 will run In parallel; then Rule 2, Rule, 3, and Rule 6 will run in parallel (two separate
calculation steps).

B. Rule 1; then Rule 2 and Rule 3 will run in parallel; then Rule 4 and Rule 5 will run in parallel; then Rule 6 (four
separate calculation steps).

C. Rule 1, Rule A, and Rule 5 will run in parallel while Rule 2, Rule 3, and Rule 6 also run in parallel (one calculation
step).

D. Rule 1; then Rule 4 and Rule 5 will run in parallel; then Rule 2 and Rule 3 will run in parallel; then Rule 6 (four
separate calculation steps).

Correct Answer: B

QUESTION 2

You are creating a rule set for allocation rules. On the description tab, you select Use Global Context. Which two
statements are true?

A. You can override the global context dimension selections at the rule set level.

B. When you select Use Rule Set Context for a rule In this rule set, the dimension-member combinations defined In the
Global Context section are also applied.

C. At the rule level, the Rule Context tab is where you can edit any default contexts applied to the rule.
D. On the Context tab for the rule set, you define default members for use In all rules added to the rule set.

Correct Answer: BC

QUESTION 3
Which three components are required to create a valid rule set?

A. Using Global Context defined in POV
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B. Rule Set execution method
C. Rule Set Name

D. Sequence

E. Defined rule set context

Correct Answer: BCD

QUESTION 4

Which three are steps to create an allocation rule?
A. populate the driver basis dimensions

B. select the execution method

C. populate the allocation formula

D. populate the destination dimensions

E. populate the source dimensions

Correct Answer: BDE

QUESTION 5

Which statement Is FALSE about Dimension Management In Profitability and Cost Management?
A. You can manually edit Business, Attribute, and Point of View dimensions.

B. System dimensions ore not displayed In Dimension Management.

C. Profitability and Cost Management uses dimensions and members created In Oracle Essbase.
D. Dimensions are imported using flat files or the Data Management feature.

Correct Answer: C
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